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QUESTION 1

A system must hold the price of every product sold by the company. Which of the following is the price likely to be?
A. An attribute.

B. An entity.

C. An object.

D. A use case.

Correct Answer: A

QUESTION 2

Which of the following techniques is used to focus solely on the external influences on an organisation?
A. SWOT.

B. PESTLE.

C. CATWOE.

D. MOST.

Correct Answer: B

QUESTION 3

As part of an investigation a Business Analyst has devised a form for users of an existing system to use to keep track of
the tasks they undertake during their working day. Which of the following describes this investigation technique?

A. Special purpose records,
B. Scenario analysis.

C. Questionnaires.

D. Activity sampling.

Correct Answer: A

QUESTION 4
Different reactions may be observed when a change to working methods is proposed. These reactions include:

a.
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Enthusiasm for the change. b. Fear of the change.

C.

Reduced performance on the job.

d.

Reluctant acceptance of the change.

Which of the following represents the typical sequence of these four reactions?
A.b,d,canda.

B. a, b, candd.

C.b,c,danda.

D.a,b,dandc.

Correct Answer: C

QUESTION 5

A business analyst wishes to show that a company wants to store information about different types of product. Some
attributes are common to every product (for example; product name) but other attributes only apply to certain product
types. For example, product material only applies to accessory products. Which of the following constructs could the

business analyst use to represent this on a class model?

A. An association class.

B. A many-to-many multiplicity.

C. A generalisation structure.

D. An structure.

Correct Answer: C
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